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14. You are given the two lines Ly:x =4 + 26,y =4 + t,z = =3 — t,teR, and

Ly:x=—2+ 35,y = =7 + 25,7 = 2 — 3s5,5R.If the point P lies on
L, and the point P, lies on L,, determine the coordinates of these two points

if PyP; is perpendicular to each of the two lines. (Hint: The vector PyP; is \\37 ‘
perpendicular to the direction vector of each of the two lines.) ?U*‘
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14. You are given the two lines Lj:x =4 + 2,y =4 + f,z = =3 — t,teR, and
Ly:x = =2+ 35,y = =7 + 25,z = 2 — 35,5 €R. If the point P lies on
L, and the point P, lies on L,, determine the coordinates of these two points
if ?}"2’ is perpendicular to each of the two lines. (Hint: The vector m is
perpendicular to the direction vector of each of the two lines.)
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